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Written Response Test

Landforms

1. Justify your assessment of the danger and risks by earthquakes in the regions of

“Santiago de Chile” and “Puerto Aisen” (see arrows in the overview map and the
satellite pictures of both regions). (5 points)
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(source: www.welt-atlas.de)
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Satelite picture of the region of Santiago de Chile. (source:
www.google.ch/maps)

Isla Rivero

v
A‘, . SR
I\

A
3
' \
<
o) Urta

{
of

Satelite picture of the region of Puerto Aisen. (source:
www.google.ch/maps)
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Written Response Test

Answer to task 1:
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Written Response Test

2. Explain the geological and geomorphological situation in the picture below. (2 points)

[source: https://fr.wikipedia.org)
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Written Response Test

Climate and Climate Change

3. Task

a) Describe the picture below with regard to the meteorological situation. (1 point)

A picture from Scotland. (source: de.wikipedia.org)

b) Explain why the smoke cannot rise indefinitely. (1 point)
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Written Response Test

4. Explain the snow-free slope in the picture. (2.5 points)

(source: de.alpinestock.com)

5. Explain how the reflection of sunlight in the Alpine region changes in connection with
the climate change. (2 points)
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Written Response Test

6. Name two anthropogenically produced greenhouse gases that have a much stronger
effect than carbon dioxide. (1 points)

a) Explain why the public discourse neglects those greenhouse gases to a large extent.
(2 points)
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Written Response Test

Hazards and Hazard Management

7. Explain why obviously the street was made drivable first. (1 point)

a) Justify what should be done next on site. (1 point)
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Written Response Test

Development Geography

8. Ethiopia: Two girls on their way home from collecting wood.
[llustrate three developmental problems that can be justified from the picture. (3
points)
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Written Response Test

Agricultural Geography

9. Task

M 13 Nordliche Anbaugrenzen in Europa

a

Kartoffeln = e Wein
———————— Sommergerste Oliven
Winterweizen —---ecececeeaaa. Reis
S e o g ol Zuckerriiben Zitrusfriichte
................................. Kérmnermais i s s o, Dol

(source: Bender et al. 2001: 98)

a) Summarize the most important facts of the illustration above. (2 points)
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Written Response Test

b) Make a prediction on how the agricultural borders in Europe will change due to
climate warming. (2 points)
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Written Response Test

Population Geography
10. Task

Male Austna - 2018 Female Male Philippines - 2018 Fermaie
1004+ 1004
95 - 99 9 -99
90 - 94 50 - 94
85 -89 85 -89
80 -84 80-84
75-79 75-79
0-74 n-n1
6% - 69 65 - 69
60 - 64 60 - 64
55-59 55-59
50-54 50-54
a5 - a9 45 - 49
40 - 44 40- 44
35-39 3539
3034 30 34
25-29 5-29
20-24 20-24
15-19 15-19
10 -14 10-14
5-9 5.9
0-4 0-4

370 296 222 148 74 0 0 74 149 222 296 370 7 56 42 28 14 0 0 14 28 42 56 ?

Population (in thousands) Age Group Population (in thousands] Population (in miions) Age Group Population (in milkions)

(source: https://preview.tinyurl.com/ybx22dxr)

a) Assign the two age structures below to their corresponding ideal-typical basic type
and briefly describe the two different population structures. (2 points)

b) Describe a probable problem for each of the two countries that could result in 2050
from the different characteristics (2 points)
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Written Response Test

11. Study the following picture and answer as precisely as possible. (2 points)

Todesfille
in 1000 © = je 1000 Einwohner]
80 24|
70 I 21
60 18
50 15|
140 12
30 9
20 6
10 3
0 O
1900 1910 1920 1930 1940 1950 1960 1970 1980 1990 2000 2015

IQuellen: BFS — ESPOP, BEVNAT, STATPOP

© BFS, Neuchatel 2016

(source: www.bfs.admin.ch, bes. 20.02.17)

a) How do you explain the different absolute and relative figures.
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Written Response Test

12.In 2018, Switzerland had the following demographic data: (Some figures refer to

different year, but this is negligible here!)

Bevolkerung - Wichtigste Kennzahlen der Schweiz 2018

Standige Wohnbevolkerung am Jahresende (in 1000)
Ménner (in %)
Frauen (in %)
Altersgruppen (in %)
0-19 Jahre
20-39 Jahre
40-64 Jahre
65 Jahre und alter
Durchschnittsalter
Auslandische Staatsangehorige (in %)
Bevolkerungswachstum (in %)

Zusammengefasste Geburtenziffer (Fertilitat)
Generationenerhalt

Sauglingssterbeziffer (in %o)

Geburtenrate (in %o)

Sterberate (in %o)

Lebenserwartung bei der Geburt (Jahre)
Manner
Frauen

Haushalte
Einpersonenhaushalte (in 1000)
Einfamilienhaushalte mit Kindern (in 1000)
Durchschnittliche Anzahl Personen je Privathaushalt

Bevolkerungsdichte (Einwohner pro km?)

(Quelle: https://tinyurl.com/yxg2ghqr, bes. 02.11.19)
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2018 (*2015, **2014)
8'544.5

496

50.4

20.0
26.5
35.0
18.5
42.4
25.1
0.7

1.55
2.13**
3.6
10.3
7.9

81.7
85.4

1258*
1071*
2.25*
207
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Written Response Test

For all following subtasks, the calculation or consideration steps must be fully
documented!

a) How large was Switzerland's birth surplus in 2018, in relative terms? And in
absolute terms? (2 points)

b) How big was the net migration in 2018 in percent and absolute terms? (3 points)

c) What stage of demographic transition would Switzerland's situation most closely
resemble, why? (2 points)

d) What does the concrete difference between the total fertility rate and generational
survival mean for future population development in Switzerland? (2 points)
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Written Response Test

Economic Geography

13. Justify on the basis of the picture why or why not China can be called a developing
country. (3 points)

Total: 43.5 points
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